[I trimmed off the errors to keep the size down]
How I look at errors, is to first see what was being passed in and what was being attempted.  In general the problem is usually much further back then where the error actually occurred.  In the case of broker initiated errors, I look at the XWB* variables and usually one of them will what the raw data that was sent.  In the case of these errors:
  7)  <(GVSUBOFLOW)>CHKX+10^ORWPT2    23:20:18  EHR,EHR     5008  /dev/null
  6)  <(GVSUBOFLOW)>CHKX+10^ORWPT2    14:14:23  EHR,EHR    10059  /dev/null
  5)  <(GVSUBOFLOW)>CHKX+10^ORWPT2    14:14:17  EHR,EHR    10059  /dev/null
  4)  <(GVSUBOFLOW)>CHKX+10^ORWPT2    14:14:12  EHR,EHR    10059  /dev/null
  3)  <(GVSUBOFLOW)>CHKX+10^ORWPT2    14:14:06  EHR,EHR    10059  /dev/null
  2)  <(GVSUBOFLOW)>CHKX+10^ORWPT2    14:13:54  EHR,EHR    10059  /dev/null
2-6 occurred the errors occurred very close together.  But error #7 occurred almost 10 hours later.  Now looking at the XWB* variables we see:
**The following variables length is 491, only displaying first 255.**
XWB(5,"P",0)=11.17.2000 
A prime suspect!  Next look at the DUZ=value, this will be the IEN/Record Number of the user.  When did a Find in the message with the errors I see two different users, 76 and 100.  To find out who they are, you can use the `ien to look up the user.  For example doing a lookup on user #1:
Select User Management Option: User Inquiry

Select NEW PERSON NAME: `1  WVEHR,PATCH INSTALLER     PIW

DEVICE: HOME//

Next I would play 20 questions with the users, trying to figure out whether there is some training or is their keyboard.  To test a keyboard I would open up NotePad and test on it.  If it is a training problem try to find out what's the missing piece.  When I worked at a VAMC it was somewhat amazing the different views folks had to entering the same data.  And once they tell you, you end up going 'Oh now I see.'  For example, they might think that they need to line stuff up.  That kind of thing.  


I really appreciate your time in checking those errors. Your input will help us in improving our training methods.
Is it possible to find out from the error log who might be the user? So that, we could target our training to those users.
It’s not urgent but it would be great if you could tell me, in an error what and where to look at the necessary info so that for minor errors I don’t bother you again.
I am in process of making log of all errors and resolutions.
 

…and like someone else pointed out earlier the user was putting in one heck of a lot of spaces (see the X* variables which is what is being passed in).  Could be the space bar is sticky or heavy fingers.  And as I replied earlier you trim off the trailing spaces, but I think it would end being a game of 'wack-a-mole'.  I noticed that it happened to two different users and that is usually, depending on the users involved, an indication that the keyboard is funky.  You all know your users best so I'll let you all decide whether a little user training is involved or the funky keyboard.
No error logged on 2/26/2008

Which date? > 02/25/8 08

8 errors logged on 2/25/2008

  8)  <(GVUNDEF)>LISTPOPD+6^ORWPT2    23:34:05  EHR,EHR     5154  /dev/null

  7)  <(GVSUBOFLOW)>CHKX+10^ORWPT2    23:20:18  EHR,EHR     5008  /dev/null

  6)  <(GVSUBOFLOW)>CHKX+10^ORWPT2    14:14:23  EHR,EHR    10059  /dev/null

  5)  <(GVSUBOFLOW)>CHKX+10^ORWPT2    14:14:17  EHR,EHR    10059  /dev/null

  4)  <(GVSUBOFLOW)>CHKX+10^ORWPT2    14:14:12  EHR,EHR    10059  /dev/null

  3)  <(GVSUBOFLOW)>CHKX+10^ORWPT2    14:14:06  EHR,EHR    10059  /dev/null

  2)  <(GVSUBOFLOW)>CHKX+10^ORWPT2    14:13:54  EHR,EHR    10059  /dev/null

  1)  <(MUTEXERR)>GTMLNX+6^HLCSGTM    08:31:07  EHR,EHR    19437  0

No screened error

     Enter '^' to quit listing, <RETURN> to continue...: 

Which error? >  1

Process ID:  19437  (19437)             FEB 25, 2008 08:31:07

UCI/VOL: [EHR,EHR]                      

$ZA:   0                                

Current $IO: 0                          Current $ZIO: ^0^0^0

$ZE= GTMLNX+6^HLCSGTM, Mutual Exclusion subsystem failure,150376906,-%GTM-E-MUTE

XERR

 K ^TMP($J) ZSHOW "D":^TMP($J)

Which symbol? > ^P

DEVICE: HOME//   TELNET

$ZE= GTMLNX+6^HLCSGTM, Mutual Exclusion subsystem failure,150376906,-%GTM-E-MUTE

XERR

 K ^TMP($J) ZSHOW "D":^TMP($J)

$DEVICE=0

$ECODE=,Z150376906,

$ESTACK=2

$ETRAP=D ^%ZTER HALT

$QUIT=0

$STACK=2

$STACK(000)=-run GTMLNX^HLCSGTM

$STACK(000,"ECODE")=,Z150376906,

$STACK(000,"PLACE")=GTMLNX+6^HLCSGTM

$STACK(000,"MCODE")= K ^TMP($J) ZSHOW "D":^TMP($J)

$X $Y=0 0

$ZV=GT.M V5.3-000 Linux x86

%ZT("^XUTL(""XQ"",$J)")=

%ZTER11I=EHR,EHR

%ZTER11N=1

%ZTER11S=

%ZTER11Z=0

%ZTER12A=0

%ZTER12B=

%ZTERCNT=20

%ZTERH1=61051

%ZTERROR=

%ZTERRT=^%ZTER(1,61051,1,1)

%ZTERSUB=%ZTER11S)

%ZTERVAP=%ZT(

%ZTERVAR=%ZTERVAR

%ZTERZE=GTMLNX+6^HLCSGTM, Mutual Exclusion subsystem failure,150376906,-%GTM-E-M

UTEXERR

IO=0

U=^

Which error? >  2

Process ID:  10059  (10059)             FEB 25, 2008 14:13:54

UCI/VOL: [EHR,EHR]                      

$ZA:   0                                

Current $IO: /dev/null                  Current $ZIO: /dev/null^0^0^0

$ZE= CHKX+10^ORWPT2, Maximum combined length of subscripts exceeded,150372986,-%

GTM-E-GVSUBOFLOW

 F  S IDX=$O(^AUPNPAT("D",IDX)) Q:(IDX="")!(IFLAG=1)  D

Last Global Ref: ^AUPNPAT("D")

Which symbol? > ^P

DEVICE: HOME//   TELNET

$ZE= CHKX+10^ORWPT2, Maximum combined length of subscripts exceeded,150372986,-%

GTM-E-GVSUBOFLOW

 F  S IDX=$O(^AUPNPAT("D",IDX)) Q:(IDX="")!(IFLAG=1)  D

Last Global Ref: ^AUPNPAT("D")

$DEVICE=

$ECODE=,Z150372986,

$ESTACK=10

$ETRAP=D ^%ZTER,EXIT^XWBTCPM HALT

$QUIT=0

$STACK=10

$STACK(000)=-run GTMLNX^XWBTCPM

$STACK(000,"ECODE")=

$STACK(000,"PLACE")=RESTART+3^XWBTCPM

$STACK(000,"MCODE")= U XWBTDEV D MAIN

$STACK(001)=DO

$STACK(001,"ECODE")=

$STACK(001,"PLACE")=MAIN+1^XWBTCPM

$STACK(001,"MCODE")= F  D  Q:XWBTBUF="#BYE#"

$STACK(002)=DO

$STACK(002,"ECODE")=

$STACK(002,"PLACE")=MAIN+14^XWBTCPM

$STACK(002,"MCODE")= . D CALLP^XWBPRS(.XWBR,$G(XWBDEBUG)) ;Read the NEW Msg para

meters and call RPC

$STACK(003)=DO

$STACK(003,"ECODE")=

$STACK(003,"PLACE")=CALLP+10^XWBPRS

$STACK(003,"MCODE")= I '+ERR D

$STACK(004)=DO

$STACK(004,"ECODE")=

$STACK(004,"PLACE")=CALLP+11^XWBPRS

$STACK(004,"MCODE")= . D CAPI(.XWBP,XWB("PARAM"))

$STACK(005)=DO

$STACK(005,"ECODE")=

$STACK(005,"PLACE")=CAPI+10^XWBPRS

$STACK(005,"MCODE")= D @XWBCALL S XWBCALL2=XWBCALL ;Save call for debug

$STACK(006)=DO

$STACK(006,"ECODE")=

$STACK(006,"PLACE")=LOOKUP+36^ORWPT2

$STACK(006,"MCODE")= F  S IRET=$$CHKX(X) Q:IRET'=1  S I=$O(^AUPNPAT("D",X,I)) Q:

'I  I X=$$HRN^DGLBPID(I) D LISTPOPH(I)  ;I X=$P($$HRN^DGLBPID(I),"#",2

$STACK(007)=$$

$STACK(007,"ECODE")=,Z150372986,

$STACK(007,"PLACE")=CHKX+10^ORWPT2

$STACK(007,"MCODE")= F  S IDX=$O(^AUPNPAT("D",IDX)) Q:(IDX="")!(IFLAG=1)  D

$STACK(008)=DO

$STACK(008,"ECODE")=

$STACK(008,"PLACE")=ETRAP+6^XWBTCPM

$STACK(008,"MCODE")= D ^%ZTER ;%ZTER clears $ZE and $ZCODE

$X $Y=0 0

$ZV=GT.M V5.3-000 Linux x86

%=491

%DT=T

%T=0

%ZT("^XUTL(""XQ"",$J)")=

%ZTER11I=EHR,EHR

%ZTER11N=2

%ZTER11S=

%ZTER11Z=0

%ZTER12A=0

%ZTER12B=

%ZTERCNT=55

%ZTERH1=61051

%ZTERROR=

%ZTERRT=^%ZTER(1,61051,1,2)

%ZTERSUB=%ZTER11S)

%ZTERVAP=%ZT(

%ZTERVAR=%ZTERVAR

%ZTERZE=CHKX+10^ORWPT2, Maximum combined length of subscripts exceeded,150372986

,-%GTM-E-GVSUBOFLOW

CODE=99245

D=3080225.140855^100^^^^0

D0=84585

DFN=91128

DG=

DILOCKTM=3

DIQ2=1605

DISYS=19

DIW=

DLGIEN=147

DQ=0

DT=3080225

DTIME=3600

DUZ=100

DUZ(0)=

DUZ(1)=

DUZ(2)=1

DUZ("AG")=E

DUZ("AUTO")=1

DUZ("BUF")=1

DUZ("LANG")=

ERR=0

FDA=^TMP(10059,"XQALSET")

GFTI=0

GMRA=0^0^111

I=0

**The following variables length is 490, only displaying first 255.**

IDX=11.17.2000                                                                  

**

IEN=36

IEND=0

IFLAG=0

ILEN=491

ILENM1=490

IO=/dev/null

IO(0)=/dev/null

IO(1,"/dev/null")=

IO("CLNM")=

IO("ERROR")=

IO("GTM-IP")=10.3.20.222

IO("HOME")=47^/dev/null

IO("IP")=10.3.20.222

IO("ZIO")=/dev/null

IOBS=$C(8)

IOF=#

IOHG=

IOM=132

ION=

IOPAR=

IOS=0

IOSL=64

IOST=P-OTHER

IOST(0)=16

IOT=TRM

IOUPAR=

IOXY=

IX=

NOCONTIN=0

ORWCLVER=1.0.26.69

POP=1

PSOSHH=0

SDCNT=1

TAB=\009

TERMNODE=

TFTBL=AO^IR^SC^EC^MST^HNC^CV

TIUCHNG=1

TIUDIV1(4,1,.01)=FLYDOC, INC

TIUPRM0=1^1^60^^1^P^1^2^^^^^^^^^^0

TIUPRM1=^^^^^*_*^3060101

TMPLST=0

TYPE=1

U=^

VALMCNT=75

VALUE(1)=3080115.142525^JAN 15, 2008@14:25:25

VALUE(2)=50534^PATIENT
VALUE(3)=8^HEIGHT

VALUE(4)=3080115.142845^JAN 15, 2008@14:28:45

VALUE(5)=7^CLINIC
VALUE(6)=99^Medical assistant
VALUE(7)=27^27

VALUE(8)=^

VALUE(9)=^

VALUE(10)=^

VALUE(11,1)=^

VALUE(12,1)=^

VASITE=1

VASITE(100)=100

**The following variables length is 491, only displaying first 255.**

X=11.17.2000                                                                    

**

X0=10^15^^Comments: ^^^^^C

**The following variables length is 491, only displaying first 255.**

X1=11.17.2000                                                                   

**

X3=

XPARSYS=5;DIC(4.2,

XQCY0=OR CPRS GUI CHART^CPRSChart version 1.0.26.69^^B^65^^^^^^^

XQMES=1

XQVOL=EHR

XQXFLG=0^0

XQXFLG("LLOG")=3080225.084021

XQY=8552

XQY0=OR CPRS GUI CHART

XR=[XWB]

XUCI=EHR

XUDEV=0

XUENV=EHR^EHR^vistaweb^EHR:vistaweb

XUF=2

XUF(.1)=

XUF(.2)=0

XUF(.3)=100

XUFAC=0

XUIOP=

XUVOL=EHR^^256^^^n

XWB(0,"LENV")=3

XWB(0,"RT")=0

XWB(0,"TYPE")=1

XWB(0,"VER")=1

XWB(2,"RNAM")=ORWPT2

XWB(2,"RPC")=ORWPT ENHANCED PATLOOKUP

XWB(2,"RTAG")=LOOKUP

XWB(2,"VER")=0

**The following variables length is 491, only displaying first 255.**

XWB(5,"P",0)=11.17.2000                                                         

**

XWB("PARAM")=XWB(5,"P",0)

XWBAPVER=0

XWBCALL=LOOKUP^ORWPT2(.XWBY,XWB(5,"P",0))

XWBCALL2=

XWBCLMAN=termserver
XWBDEBUG=0

XWBENVL=3

XWBERC=CHKX+10^ORWPT2, Maximum combined length of subscripts exceeded,150372986,

-%GTM-E-GVSUBOFLOW

XWBERR=M  ERROR=CHKX+10^ORWPT2, Maximum combined length of subscripts exceeded,1

50372986,-%GTM-E-GVSUBOFLOW\013\010LAST REF=^AUPNPAT("D")

XWBERROR=

XWBNULL=/dev/null

XWBOS=MSM

XWBPRT=0

XWBPTYPE=2

XWBRBUF=

XWBSEC=

XWBT("BF")=!

XWBT("PCNT")=0

XWBTBUF=

XWBTCMD=

XWBTDEV=0

XWBTIME=800

XWBTIME(1)=5

XWBTIP=10.3.20.222

XWBTSKT=0

XWBVER=1.108

XWBWRAP=1

**The following variables length is 491, only displaying first 255.**

XX=11.17.2000                                                                   

**

ZTSK=909280

ZTSK("D")=61051,46902

^XUTL("XQ",$J,0)=3080225.130124

^XUTL("XQ",$J,"DUZ")=100

^XUTL("XQ",$J,"DUZ(0)")=

^XUTL("XQ",$J,"DUZ(1)")=

^XUTL("XQ",$J,"DUZ(2)")=1

^XUTL("XQ",$J,"DUZ(AG)")=E

^XUTL("XQ",$J,"DUZ(AUTO)")=1

^XUTL("XQ",$J,"DUZ(BUF)")=1

^XUTL("XQ",$J,"DUZ(LANG)")=

^XUTL("XQ",$J,"IO")=/dev/null

^XUTL("XQ",$J,"IO(""CLNM"")")=termserver

^XUTL("XQ",$J,"IO(""IP"")")=10.3.20.222

^XUTL("XQ",$J,"IOBS")=$C(8)

^XUTL("XQ",$J,"IOF")=#

^XUTL("XQ",$J,"IOM")=132

^XUTL("XQ",$J,"ION")=

^XUTL("XQ",$J,"IOS")=0

^XUTL("XQ",$J,"IOSL")=64

^XUTL("XQ",$J,"IOST")=P-OTHER

^XUTL("XQ",$J,"IOST(0)")=16

^XUTL("XQ",$J,"IOT")=TRM

^XUTL("XQ",$J,"IOXY")=

^XUTL("XQ",$J,"XQVOL")=EHR

Which error? >  3

Process ID:  10059  (10059)             FEB 25, 2008 14:14:06

UCI/VOL: [EHR,EHR]                      

$ZA:   0                                

Current $IO: /dev/null                  Current $ZIO: /dev/null^0^0^0

$ZE= CHKX+10^ORWPT2, Maximum combined length of subscripts exceeded,150372986,-%

GTM-E-GVSUBOFLOW

 F  S IDX=$O(^AUPNPAT("D",IDX)) Q:(IDX="")!(IFLAG=1)  D

Last Global Ref: ^AUPNPAT("D")

Which symbol? > ^p

DEVICE: HOME//   TELNET

$ZE= CHKX+10^ORWPT2, Maximum combined length of subscripts exceeded,150372986,-%

GTM-E-GVSUBOFLOW

 F  S IDX=$O(^AUPNPAT("D",IDX)) Q:(IDX="")!(IFLAG=1)  D

Last Global Ref: ^AUPNPAT("D")

$DEVICE=

$ECODE=,Z150372986,

$ESTACK=10

$ETRAP=D ^%ZTER,EXIT^XWBTCPM HALT

$QUIT=0

$STACK=10

$STACK(000)=-run GTMLNX^XWBTCPM

$STACK(000,"ECODE")=

$STACK(000,"PLACE")=RESTART+3^XWBTCPM

$STACK(000,"MCODE")= U XWBTDEV D MAIN

$STACK(001)=DO

$STACK(001,"ECODE")=

$STACK(001,"PLACE")=MAIN+1^XWBTCPM

$STACK(001,"MCODE")= F  D  Q:XWBTBUF="#BYE#"

$STACK(002)=DO

$STACK(002,"ECODE")=

$STACK(002,"PLACE")=MAIN+14^XWBTCPM

$STACK(002,"MCODE")= . D CALLP^XWBPRS(.XWBR,$G(XWBDEBUG)) ;Read the NEW Msg para

meters and call RPC

$STACK(003)=DO

$STACK(003,"ECODE")=

$STACK(003,"PLACE")=CALLP+10^XWBPRS

$STACK(003,"MCODE")= I '+ERR D

$STACK(004)=DO

$STACK(004,"ECODE")=

$STACK(004,"PLACE")=CALLP+11^XWBPRS

$STACK(004,"MCODE")= . D CAPI(.XWBP,XWB("PARAM"))

$STACK(005)=DO

$STACK(005,"ECODE")=

$STACK(005,"PLACE")=CAPI+10^XWBPRS

$STACK(005,"MCODE")= D @XWBCALL S XWBCALL2=XWBCALL ;Save call for debug

$STACK(006)=DO

$STACK(006,"ECODE")=

$STACK(006,"PLACE")=LOOKUP+36^ORWPT2

$STACK(006,"MCODE")= F  S IRET=$$CHKX(X) Q:IRET'=1  S I=$O(^AUPNPAT("D",X,I)) Q:

'I  I X=$$HRN^DGLBPID(I) D LISTPOPH(I)  ;I X=$P($$HRN^DGLBPID(I),"#",2

$STACK(007)=$$

$STACK(007,"ECODE")=,Z150372986,

$STACK(007,"PLACE")=CHKX+10^ORWPT2

$STACK(007,"MCODE")= F  S IDX=$O(^AUPNPAT("D",IDX)) Q:(IDX="")!(IFLAG=1)  D

$STACK(008)=DO

$STACK(008,"ECODE")=

$STACK(008,"PLACE")=ETRAP+6^XWBTCPM

$STACK(008,"MCODE")= D ^%ZTER ;%ZTER clears $ZE and $ZCODE

$X $Y=0 0

$ZV=GT.M V5.3-000 Linux x86

%=360

%ZT("^XUTL(""XQ"",$J)")=

%ZTER11I=EHR,EHR

%ZTER11N=3

%ZTER11S=

%ZTER11Z=0

%ZTER12A=0

%ZTER12B=

%ZTERCNT=53

%ZTERH1=61051

%ZTERROR=

%ZTERRT=^%ZTER(1,61051,1,3)

%ZTERSUB=%ZTER11S)

%ZTERVAP=%ZT(

%ZTERVAR=%ZTERVAR

%ZTERZE=CHKX+10^ORWPT2, Maximum combined length of subscripts exceeded,150372986

,-%GTM-E-GVSUBOFLOW

DISYS=19

DT=3080225

DTIME=30

DUZ=100

DUZ(0)=

DUZ(1)=

DUZ(2)=1

DUZ("AG")=E

DUZ("AUTO")=1

DUZ("BUF")=1

DUZ("LANG")=

ERR=0

GFTI=0

I=0

**The following variables length is 359, only displaying first 255.**

IDX=11.17.2000                                                                  

**

IEND=0

IFLAG=0

ILEN=360

ILENM1=359

IO=/dev/null

IO(0)=/dev/null

IO(1,"/dev/null")=

IO("CLNM")=

IO("ERROR")=

IO("GTM-IP")=10.3.20.222

IO("HOME")=47^/dev/null

IO("IP")=10.3.20.222

IO("ZIO")=/dev/null

IOBS=$C(8)

IOF=#

IOM=132

ION=

IOS=0

IOSL=64

IOST=P-OTHER

IOST(0)=16

IOT=TRM

IOXY=

TAB=\009

TYPE=1

U=^

**The following variables length is 360, only displaying first 255.**

X=11.17.2000                                                                    

**

**The following variables length is 360, only displaying first 255.**

X1=11.17.2000                                                                   

**

X3=

XQMES=1

XQVOL=EHR

XQXFLG=0^0

XQXFLG("LLOG")=3080225.084021

XQY=8552

XQY0=OR CPRS GUI CHART

XR=[XWB]

XWB(0,"LENV")=3

XWB(0,"RT")=0

XWB(0,"TYPE")=1

XWB(0,"VER")=1

XWB(2,"RNAM")=ORWPT2

XWB(2,"RPC")=ORWPT ENHANCED PATLOOKUP

XWB(2,"RTAG")=LOOKUP

XWB(2,"VER")=0

**The following variables length is 360, only displaying first 255.**

XWB(5,"P",0)=11.17.2000                                                         

**

XWB("PARAM")=XWB(5,"P",0)

XWBAPVER=0

XWBCALL=LOOKUP^ORWPT2(.XWBY,XWB(5,"P",0))

XWBCALL2=

XWBCLMAN=

XWBDEBUG=0

XWBENVL=3

XWBERC=CHKX+10^ORWPT2, Maximum combined length of subscripts exceeded,150372986,

-%GTM-E-GVSUBOFLOW

XWBERR=M  ERROR=CHKX+10^ORWPT2, Maximum combined length of subscripts exceeded,1

50372986,-%GTM-E-GVSUBOFLOW\013\010LAST REF=^AUPNPAT("D")

XWBERROR=

XWBNULL=/dev/null

XWBOS=MSM

XWBPRT=0

XWBPTYPE=2

XWBRBUF=

XWBSEC=

XWBT("BF")=!

XWBT("PCNT")=0

XWBTBUF=

XWBTCMD=

XWBTDEV=0

XWBTIME=800

XWBTIME(1)=5

XWBTIP=10.3.20.222

XWBTSKT=0

XWBVER=1.108

XWBWRAP=1

**The following variables length is 360, only displaying first 255.**

XX=11.17.2000                                                                   

**

^XUTL("XQ",$J,0)=3080225.130124

^XUTL("XQ",$J,"DUZ")=100

^XUTL("XQ",$J,"DUZ(0)")=

^XUTL("XQ",$J,"DUZ(1)")=

^XUTL("XQ",$J,"DUZ(2)")=1

^XUTL("XQ",$J,"DUZ(AG)")=E

^XUTL("XQ",$J,"DUZ(AUTO)")=1

^XUTL("XQ",$J,"DUZ(BUF)")=1

^XUTL("XQ",$J,"DUZ(LANG)")=

^XUTL("XQ",$J,"IO")=/dev/null

^XUTL("XQ",$J,"IO(""CLNM"")")=
^XUTL("XQ",$J,"IO(""IP"")")=10.3.20.222

^XUTL("XQ",$J,"IOBS")=$C(8)

^XUTL("XQ",$J,"IOF")=#

^XUTL("XQ",$J,"IOM")=132

^XUTL("XQ",$J,"ION")=

^XUTL("XQ",$J,"IOS")=0

^XUTL("XQ",$J,"IOSL")=64

^XUTL("XQ",$J,"IOST")=P-OTHER

^XUTL("XQ",$J,"IOST(0)")=16

^XUTL("XQ",$J,"IOT")=TRM

^XUTL("XQ",$J,"IOXY")=

^XUTL("XQ",$J,"XQVOL")=EHR

Which error? >  4

Process ID:  10059  (10059)             FEB 25, 2008 14:14:12

UCI/VOL: [EHR,EHR]                      

$ZA:   0                                

Current $IO: /dev/null                  Current $ZIO: /dev/null^0^0^0

$ZE= CHKX+10^ORWPT2, Maximum combined length of subscripts exceeded,150372986,-%

GTM-E-GVSUBOFLOW

 F  S IDX=$O(^AUPNPAT("D",IDX)) Q:(IDX="")!(IFLAG=1)  D

Last Global Ref: ^AUPNPAT("D")

Which symbol? > ^P

DEVICE: HOME//   TELNET

$ZE= CHKX+10^ORWPT2, Maximum combined length of subscripts exceeded,150372986,-%

GTM-E-GVSUBOFLOW

 F  S IDX=$O(^AUPNPAT("D",IDX)) Q:(IDX="")!(IFLAG=1)  D

Last Global Ref: ^AUPNPAT("D")

$DEVICE=

$ECODE=,Z150372986,

$ESTACK=10

$ETRAP=D ^%ZTER,EXIT^XWBTCPM HALT

$QUIT=0

$STACK=10

$STACK(000)=-run GTMLNX^XWBTCPM

$STACK(000,"ECODE")=

$STACK(000,"PLACE")=RESTART+3^XWBTCPM

$STACK(000,"MCODE")= U XWBTDEV D MAIN

$STACK(001)=DO

$STACK(001,"ECODE")=

$STACK(001,"PLACE")=MAIN+1^XWBTCPM

$STACK(001,"MCODE")= F  D  Q:XWBTBUF="#BYE#"

$STACK(002)=DO

$STACK(002,"ECODE")=

$STACK(002,"PLACE")=MAIN+14^XWBTCPM

$STACK(002,"MCODE")= . D CALLP^XWBPRS(.XWBR,$G(XWBDEBUG)) ;Read the NEW Msg para

meters and call RPC

$STACK(003)=DO

$STACK(003,"ECODE")=

$STACK(003,"PLACE")=CALLP+10^XWBPRS

$STACK(003,"MCODE")= I '+ERR D

$STACK(004)=DO

$STACK(004,"ECODE")=

$STACK(004,"PLACE")=CALLP+11^XWBPRS

$STACK(004,"MCODE")= . D CAPI(.XWBP,XWB("PARAM"))

$STACK(005)=DO

$STACK(005,"ECODE")=

$STACK(005,"PLACE")=CAPI+10^XWBPRS

$STACK(005,"MCODE")= D @XWBCALL S XWBCALL2=XWBCALL ;Save call for debug

$STACK(006)=DO

$STACK(006,"ECODE")=

$STACK(006,"PLACE")=LOOKUP+36^ORWPT2

$STACK(006,"MCODE")= F  S IRET=$$CHKX(X) Q:IRET'=1  S I=$O(^AUPNPAT("D",X,I)) Q:

'I  I X=$$HRN^DGLBPID(I) D LISTPOPH(I)  ;I X=$P($$HRN^DGLBPID(I),"#",2

$STACK(007)=$$

$STACK(007,"ECODE")=,Z150372986,

$STACK(007,"PLACE")=CHKX+10^ORWPT2

$STACK(007,"MCODE")= F  S IDX=$O(^AUPNPAT("D",IDX)) Q:(IDX="")!(IFLAG=1)  D

$STACK(008)=DO

$STACK(008,"ECODE")=

$STACK(008,"PLACE")=ETRAP+6^XWBTCPM

$STACK(008,"MCODE")= D ^%ZTER ;%ZTER clears $ZE and $ZCODE

$X $Y=0 0

$ZV=GT.M V5.3-000 Linux x86

%=365

%ZT("^XUTL(""XQ"",$J)")=

%ZTER11I=EHR,EHR

%ZTER11N=4

%ZTER11S=

%ZTER11Z=0

%ZTER12A=0

%ZTER12B=

%ZTERCNT=53

%ZTERH1=61051

%ZTERROR=

%ZTERRT=^%ZTER(1,61051,1,4)

%ZTERSUB=%ZTER11S)

%ZTERVAP=%ZT(

%ZTERVAR=%ZTERVAR

%ZTERZE=CHKX+10^ORWPT2, Maximum combined length of subscripts exceeded,150372986

,-%GTM-E-GVSUBOFLOW

DISYS=19

DT=3080225

DTIME=30

DUZ=100

DUZ(0)=

DUZ(1)=

DUZ(2)=1

DUZ("AG")=E

DUZ("AUTO")=1

DUZ("BUF")=1

DUZ("LANG")=

ERR=0

GFTI=0

I=0

**The following variables length is 364, only displaying first 255.**

IDX=11.17.2000                                                                  

**

IEND=0

IFLAG=0

ILEN=365

ILENM1=364

IO=/dev/null

IO(0)=/dev/null

IO(1,"/dev/null")=

IO("CLNM")=
IO("ERROR")=

IO("GTM-IP")=10.3.20.222

IO("HOME")=47^/dev/null

IO("IP")=10.3.20.222

IO("ZIO")=/dev/null

IOBS=$C(8)

IOF=#

IOM=132

ION=

IOS=0

IOSL=64

IOST=P-OTHER

IOST(0)=16

IOT=TRM

IOXY=

TAB=\009

TYPE=1

U=^

**The following variables length is 365, only displaying first 255.**

X=11.17.2000                                                                    

**

**The following variables length is 365, only displaying first 255.**

X1=11.17.2000                                                                   

**

X3=

XQMES=1

XQVOL=EHR

XQXFLG=0^0

XQXFLG("LLOG")=3080225.084021

XQY=8552

XQY0=OR CPRS GUI CHART

XR=[XWB]

XWB(0,"LENV")=3

XWB(0,"RT")=0

XWB(0,"TYPE")=1

XWB(0,"VER")=1

XWB(2,"RNAM")=ORWPT2

XWB(2,"RPC")=ORWPT ENHANCED PATLOOKUP

XWB(2,"RTAG")=LOOKUP

XWB(2,"VER")=0

**The following variables length is 365, only displaying first 255.**

XWB(5,"P",0)=11.17.2000                                                         

**

XWB("PARAM")=XWB(5,"P",0)

XWBAPVER=0

XWBCALL=LOOKUP^ORWPT2(.XWBY,XWB(5,"P",0))

XWBCALL2=

XWBCLMAN=
XWBDEBUG=0

XWBENVL=3

XWBERC=CHKX+10^ORWPT2, Maximum combined length of subscripts exceeded,150372986,

-%GTM-E-GVSUBOFLOW

XWBERR=M  ERROR=CHKX+10^ORWPT2, Maximum combined length of subscripts exceeded,1

50372986,-%GTM-E-GVSUBOFLOW\013\010LAST REF=^AUPNPAT("D")

XWBERROR=

XWBNULL=/dev/null

XWBOS=MSM

XWBPRT=0

XWBPTYPE=2

XWBRBUF=

XWBSEC=

XWBT("BF")=!

XWBT("PCNT")=0

XWBTBUF=

XWBTCMD=

XWBTDEV=0

XWBTIME=800

XWBTIME(1)=5

XWBTIP=10.3.20.222

XWBTSKT=0

XWBVER=1.108

XWBWRAP=1

**The following variables length is 365, only displaying first 255.**

XX=11.17.2000                                                                   

**

^XUTL("XQ",$J,0)=3080225.130124

^XUTL("XQ",$J,"DUZ")=100

^XUTL("XQ",$J,"DUZ(0)")=

^XUTL("XQ",$J,"DUZ(1)")=

^XUTL("XQ",$J,"DUZ(2)")=1

^XUTL("XQ",$J,"DUZ(AG)")=E

^XUTL("XQ",$J,"DUZ(AUTO)")=1

^XUTL("XQ",$J,"DUZ(BUF)")=1

^XUTL("XQ",$J,"DUZ(LANG)")=

^XUTL("XQ",$J,"IO")=/dev/null

^XUTL("XQ",$J,"IO(""CLNM"")")=
^XUTL("XQ",$J,"IO(""IP"")")=10.3.20.222

^XUTL("XQ",$J,"IOBS")=$C(8)

^XUTL("XQ",$J,"IOF")=#

^XUTL("XQ",$J,"IOM")=132

^XUTL("XQ",$J,"ION")=

^XUTL("XQ",$J,"IOS")=0

^XUTL("XQ",$J,"IOSL")=64

^XUTL("XQ",$J,"IOST")=P-OTHER

^XUTL("XQ",$J,"IOST(0)")=16

^XUTL("XQ",$J,"IOT")=TRM

^XUTL("XQ",$J,"IOXY")=

^XUTL("XQ",$J,"XQVOL")=EHR

Which error? >  5

Process ID:  10059  (10059)             FEB 25, 2008 14:14:17

UCI/VOL: [EHR,EHR]                      

$ZA:   0                                

Current $IO: /dev/null                  Current $ZIO: /dev/null^0^0^0

$ZE= CHKX+10^ORWPT2, Maximum combined length of subscripts exceeded,150372986,-%

GTM-E-GVSUBOFLOW

 F  S IDX=$O(^AUPNPAT("D",IDX)) Q:(IDX="")!(IFLAG=1)  D

Last Global Ref: ^AUPNPAT("D")

Which symbol? > ^

Which error? >  5

Process ID:  10059  (10059)             FEB 25, 2008 14:14:17

UCI/VOL: [EHR,EHR]                      

$ZA:   0                                

Current $IO: /dev/null                  Current $ZIO: /dev/null^0^0^0

$ZE= CHKX+10^ORWPT2, Maximum combined length of subscripts exceeded,150372986,-%

GTM-E-GVSUBOFLOW

 F  S IDX=$O(^AUPNPAT("D",IDX)) Q:(IDX="")!(IFLAG=1)  D

Last Global Ref: ^AUPNPAT("D")

Which symbol? > ^P

DEVICE: HOME//   TELNET

$ZE= CHKX+10^ORWPT2, Maximum combined length of subscripts exceeded,150372986,-%

GTM-E-GVSUBOFLOW

 F  S IDX=$O(^AUPNPAT("D",IDX)) Q:(IDX="")!(IFLAG=1)  D

Last Global Ref: ^AUPNPAT("D")

$DEVICE=

$ECODE=,Z150372986,

$ESTACK=10

$ETRAP=D ^%ZTER,EXIT^XWBTCPM HALT

$QUIT=0

$STACK=10

$STACK(000)=-run GTMLNX^XWBTCPM

$STACK(000,"ECODE")=

$STACK(000,"PLACE")=RESTART+3^XWBTCPM

$STACK(000,"MCODE")= U XWBTDEV D MAIN

$STACK(001)=DO

$STACK(001,"ECODE")=

$STACK(001,"PLACE")=MAIN+1^XWBTCPM

$STACK(001,"MCODE")= F  D  Q:XWBTBUF="#BYE#"

$STACK(002)=DO

$STACK(002,"ECODE")=

$STACK(002,"PLACE")=MAIN+14^XWBTCPM

$STACK(002,"MCODE")= . D CALLP^XWBPRS(.XWBR,$G(XWBDEBUG)) ;Read the NEW Msg para

meters and call RPC

$STACK(003)=DO

$STACK(003,"ECODE")=

$STACK(003,"PLACE")=CALLP+10^XWBPRS

$STACK(003,"MCODE")= I '+ERR D

$STACK(004)=DO

$STACK(004,"ECODE")=

$STACK(004,"PLACE")=CALLP+11^XWBPRS

$STACK(004,"MCODE")= . D CAPI(.XWBP,XWB("PARAM"))

$STACK(005)=DO

$STACK(005,"ECODE")=

$STACK(005,"PLACE")=CAPI+10^XWBPRS

$STACK(005,"MCODE")= D @XWBCALL S XWBCALL2=XWBCALL ;Save call for debug

$STACK(006)=DO

$STACK(006,"ECODE")=

$STACK(006,"PLACE")=LOOKUP+36^ORWPT2

$STACK(006,"MCODE")= F  S IRET=$$CHKX(X) Q:IRET'=1  S I=$O(^AUPNPAT("D",X,I)) Q:

'I  I X=$$HRN^DGLBPID(I) D LISTPOPH(I)  ;I X=$P($$HRN^DGLBPID(I),"#",2

$STACK(007)=$$

$STACK(007,"ECODE")=,Z150372986,

$STACK(007,"PLACE")=CHKX+10^ORWPT2

$STACK(007,"MCODE")= F  S IDX=$O(^AUPNPAT("D",IDX)) Q:(IDX="")!(IFLAG=1)  D

$STACK(008)=DO

$STACK(008,"ECODE")=

$STACK(008,"PLACE")=ETRAP+6^XWBTCPM

$STACK(008,"MCODE")= D ^%ZTER ;%ZTER clears $ZE and $ZCODE

$X $Y=0 0

$ZV=GT.M V5.3-000 Linux x86

%=366

%ZT("^XUTL(""XQ"",$J)")=

%ZTER11I=EHR,EHR

%ZTER11N=5

%ZTER11S=

%ZTER11Z=0

%ZTER12A=0

%ZTER12B=

%ZTERCNT=53

%ZTERH1=61051

%ZTERROR=

%ZTERRT=^%ZTER(1,61051,1,5)

%ZTERSUB=%ZTER11S)

%ZTERVAP=%ZT(

%ZTERVAR=%ZTERVAR

%ZTERZE=CHKX+10^ORWPT2, Maximum combined length of subscripts exceeded,150372986

,-%GTM-E-GVSUBOFLOW

DISYS=19

DT=3080225

DTIME=30

DUZ=100

DUZ(0)=

DUZ(1)=

DUZ(2)=1

DUZ("AG")=E

DUZ("AUTO")=1

DUZ("BUF")=1

DUZ("LANG")=

ERR=0

GFTI=0

I=0

**The following variables length is 365, only displaying first 255.**

IDX=11.17.2000                                                                  

**

IEND=0

IFLAG=0

ILEN=366

ILENM1=365

IO=/dev/null

IO(0)=/dev/null

IO(1,"/dev/null")=

IO("CLNM")=

IO("ERROR")=

IO("GTM-IP")=10.3.20.222

IO("HOME")=47^/dev/null

IO("IP")=10.3.20.222

IO("ZIO")=/dev/null

IOBS=$C(8)

IOF=#

IOM=132

ION=

IOS=0

IOSL=64

IOST=P-OTHER

IOST(0)=16

IOT=TRM

IOXY=

TAB=\009

TYPE=1

U=^

**The following variables length is 366, only displaying first 255.**

X=11.17.2000                                                                    

**

**The following variables length is 366, only displaying first 255.**

X1=11.17.2000                                                                   

**

X3=

XQMES=1

XQVOL=EHR

XQXFLG=0^0

XQXFLG("LLOG")=3080225.084021

XQY=8552

XQY0=OR CPRS GUI CHART

XR=[XWB]

XWB(0,"LENV")=3

XWB(0,"RT")=0

XWB(0,"TYPE")=1

XWB(0,"VER")=1

XWB(2,"RNAM")=ORWPT2

XWB(2,"RPC")=ORWPT ENHANCED PATLOOKUP

XWB(2,"RTAG")=LOOKUP

XWB(2,"VER")=0

**The following variables length is 366, only displaying first 255.**

XWB(5,"P",0)=11.17.2000                                                         

**

XWB("PARAM")=XWB(5,"P",0)

XWBAPVER=0

XWBCALL=LOOKUP^ORWPT2(.XWBY,XWB(5,"P",0))

XWBCALL2=

XWBCLMAN=
XWBDEBUG=0

XWBENVL=3

XWBERC=CHKX+10^ORWPT2, Maximum combined length of subscripts exceeded,150372986,

-%GTM-E-GVSUBOFLOW

XWBERR=M  ERROR=CHKX+10^ORWPT2, Maximum combined length of subscripts exceeded,1

50372986,-%GTM-E-GVSUBOFLOW\013\010LAST REF=^AUPNPAT("D")

XWBERROR=

XWBNULL=/dev/null

XWBOS=MSM

XWBPRT=0

XWBPTYPE=2

XWBRBUF=

XWBSEC=

XWBT("BF")=!

XWBT("PCNT")=0

XWBTBUF=

XWBTCMD=

XWBTDEV=0

XWBTIME=800

XWBTIME(1)=5

XWBTIP=10.3.20.222

XWBTSKT=0

XWBVER=1.108

XWBWRAP=1

**The following variables length is 366, only displaying first 255.**

XX=11.17.2000                                                                   

**

^XUTL("XQ",$J,0)=3080225.130124

^XUTL("XQ",$J,"DUZ")=100

^XUTL("XQ",$J,"DUZ(0)")=

^XUTL("XQ",$J,"DUZ(1)")=

^XUTL("XQ",$J,"DUZ(2)")=1

^XUTL("XQ",$J,"DUZ(AG)")=E

^XUTL("XQ",$J,"DUZ(AUTO)")=1

^XUTL("XQ",$J,"DUZ(BUF)")=1

^XUTL("XQ",$J,"DUZ(LANG)")=

^XUTL("XQ",$J,"IO")=/dev/null

^XUTL("XQ",$J,"IO(""CLNM"")")=
^XUTL("XQ",$J,"IO(""IP"")")=10.3.20.222

^XUTL("XQ",$J,"IOBS")=$C(8)

^XUTL("XQ",$J,"IOF")=#

^XUTL("XQ",$J,"IOM")=132

^XUTL("XQ",$J,"ION")=

^XUTL("XQ",$J,"IOS")=0

^XUTL("XQ",$J,"IOSL")=64

^XUTL("XQ",$J,"IOST")=P-OTHER

^XUTL("XQ",$J,"IOST(0)")=16

^XUTL("XQ",$J,"IOT")=TRM

^XUTL("XQ",$J,"IOXY")=

^XUTL("XQ",$J,"XQVOL")=EHR

Which error? >  6

Process ID:  10059  (10059)             FEB 25, 2008 14:14:23

UCI/VOL: [EHR,EHR]                      

$ZA:   0                                

Current $IO: /dev/null                  Current $ZIO: /dev/null^0^0^0

$ZE= CHKX+10^ORWPT2, Maximum combined length of subscripts exceeded,150372986,-%

GTM-E-GVSUBOFLOW

 F  S IDX=$O(^AUPNPAT("D",IDX)) Q:(IDX="")!(IFLAG=1)  D

Last Global Ref: ^AUPNPAT("D")

Which symbol? > ^P

DEVICE: HOME//   TELNET

$ZE= CHKX+10^ORWPT2, Maximum combined length of subscripts exceeded,150372986,-%

GTM-E-GVSUBOFLOW

 F  S IDX=$O(^AUPNPAT("D",IDX)) Q:(IDX="")!(IFLAG=1)  D

Last Global Ref: ^AUPNPAT("D")

$DEVICE=

$ECODE=,Z150372986,

$ESTACK=10

$ETRAP=D ^%ZTER,EXIT^XWBTCPM HALT

$QUIT=0

$STACK=10

$STACK(000)=-run GTMLNX^XWBTCPM

$STACK(000,"ECODE")=

$STACK(000,"PLACE")=RESTART+3^XWBTCPM

$STACK(000,"MCODE")= U XWBTDEV D MAIN

$STACK(001)=DO

$STACK(001,"ECODE")=

$STACK(001,"PLACE")=MAIN+1^XWBTCPM

$STACK(001,"MCODE")= F  D  Q:XWBTBUF="#BYE#"

$STACK(002)=DO

$STACK(002,"ECODE")=

$STACK(002,"PLACE")=MAIN+14^XWBTCPM

$STACK(002,"MCODE")= . D CALLP^XWBPRS(.XWBR,$G(XWBDEBUG)) ;Read the NEW Msg para

meters and call RPC

$STACK(003)=DO

$STACK(003,"ECODE")=

$STACK(003,"PLACE")=CALLP+10^XWBPRS

$STACK(003,"MCODE")= I '+ERR D

$STACK(004)=DO

$STACK(004,"ECODE")=

$STACK(004,"PLACE")=CALLP+11^XWBPRS

$STACK(004,"MCODE")= . D CAPI(.XWBP,XWB("PARAM"))

$STACK(005)=DO

$STACK(005,"ECODE")=

$STACK(005,"PLACE")=CAPI+10^XWBPRS

$STACK(005,"MCODE")= D @XWBCALL S XWBCALL2=XWBCALL ;Save call for debug

$STACK(006)=DO

$STACK(006,"ECODE")=

$STACK(006,"PLACE")=LOOKUP+36^ORWPT2

$STACK(006,"MCODE")= F  S IRET=$$CHKX(X) Q:IRET'=1  S I=$O(^AUPNPAT("D",X,I)) Q:

'I  I X=$$HRN^DGLBPID(I) D LISTPOPH(I)  ;I X=$P($$HRN^DGLBPID(I),"#",2

$STACK(007)=$$

$STACK(007,"ECODE")=,Z150372986,

$STACK(007,"PLACE")=CHKX+10^ORWPT2

$STACK(007,"MCODE")= F  S IDX=$O(^AUPNPAT("D",IDX)) Q:(IDX="")!(IFLAG=1)  D

$STACK(008)=DO

$STACK(008,"ECODE")=

$STACK(008,"PLACE")=ETRAP+6^XWBTCPM

$STACK(008,"MCODE")= D ^%ZTER ;%ZTER clears $ZE and $ZCODE

$X $Y=0 0

$ZV=GT.M V5.3-000 Linux x86

%=370

%ZT("^XUTL(""XQ"",$J)")=

%ZTER11I=EHR,EHR

%ZTER11N=6

%ZTER11S=

%ZTER11Z=0

%ZTER12A=0

%ZTER12B=

%ZTERCNT=53

%ZTERH1=61051

%ZTERROR=

%ZTERRT=^%ZTER(1,61051,1,6)

%ZTERSUB=%ZTER11S)

%ZTERVAP=%ZT(

%ZTERVAR=%ZTERVAR

%ZTERZE=CHKX+10^ORWPT2, Maximum combined length of subscripts exceeded,150372986

,-%GTM-E-GVSUBOFLOW

DISYS=19

DT=3080225

DTIME=30

DUZ=100

DUZ(0)=

DUZ(1)=

DUZ(2)=1

DUZ("AG")=E

DUZ("AUTO")=1

DUZ("BUF")=1

DUZ("LANG")=

ERR=0

GFTI=0

I=0

**The following variables length is 369, only displaying first 255.**

IDX=11.17.2000                                                                  

**

IEND=0

IFLAG=0

ILEN=370

ILENM1=369

IO=/dev/null

IO(0)=/dev/null

IO(1,"/dev/null")=

IO("CLNM")=
IO("ERROR")=

IO("GTM-IP")=10.3.20.222

IO("HOME")=47^/dev/null

IO("IP")=10.3.20.222

IO("ZIO")=/dev/null

IOBS=$C(8)

IOF=#

IOM=132

ION=

IOS=0

IOSL=64

IOST=P-OTHER

IOST(0)=16

IOT=TRM

IOXY=

TAB=\009

TYPE=1

U=^

**The following variables length is 370, only displaying first 255.**

X=11.17.2000                                                                    

**

**The following variables length is 370, only displaying first 255.**

X1=11.17.2000                                                                   

**

X3=

XQMES=1

XQVOL=EHR

XQXFLG=0^0

XQXFLG("LLOG")=3080225.084021

XQY=8552

XQY0=OR CPRS GUI CHART

XR=[XWB]

XWB(0,"LENV")=3

XWB(0,"RT")=0

XWB(0,"TYPE")=1

XWB(0,"VER")=1

XWB(2,"RNAM")=ORWPT2

XWB(2,"RPC")=ORWPT ENHANCED PATLOOKUP

XWB(2,"RTAG")=LOOKUP

XWB(2,"VER")=0

**The following variables length is 370, only displaying first 255.**

XWB(5,"P",0)=11.17.2000                                                         

**

XWB("PARAM")=XWB(5,"P",0)

XWBAPVER=0

XWBCALL=LOOKUP^ORWPT2(.XWBY,XWB(5,"P",0))

XWBCALL2=

XWBCLMAN=
XWBDEBUG=0

XWBENVL=3

XWBERC=CHKX+10^ORWPT2, Maximum combined length of subscripts exceeded,150372986,

-%GTM-E-GVSUBOFLOW

XWBERR=M  ERROR=CHKX+10^ORWPT2, Maximum combined length of subscripts exceeded,1

50372986,-%GTM-E-GVSUBOFLOW\013\010LAST REF=^AUPNPAT("D")

XWBERROR=

XWBNULL=/dev/null

XWBOS=MSM

XWBPRT=0

XWBPTYPE=2

XWBRBUF=

XWBSEC=

XWBT("BF")=!

XWBT("PCNT")=0

XWBTBUF=

XWBTCMD=

XWBTDEV=0

XWBTIME=800

XWBTIME(1)=5

XWBTIP=10.3.20.222

XWBTSKT=0

XWBVER=1.108

XWBWRAP=1

**The following variables length is 370, only displaying first 255.**

XX=11.17.2000                                                                   

**

^XUTL("XQ",$J,0)=3080225.130124

^XUTL("XQ",$J,"DUZ")=100

^XUTL("XQ",$J,"DUZ(0)")=

^XUTL("XQ",$J,"DUZ(1)")=

^XUTL("XQ",$J,"DUZ(2)")=1

^XUTL("XQ",$J,"DUZ(AG)")=E

^XUTL("XQ",$J,"DUZ(AUTO)")=1

^XUTL("XQ",$J,"DUZ(BUF)")=1

^XUTL("XQ",$J,"DUZ(LANG)")=

^XUTL("XQ",$J,"IO")=/dev/null

^XUTL("XQ",$J,"IO(""CLNM"")")=
^XUTL("XQ",$J,"IO(""IP"")")=10.3.20.222

^XUTL("XQ",$J,"IOBS")=$C(8)

^XUTL("XQ",$J,"IOF")=#

^XUTL("XQ",$J,"IOM")=132

^XUTL("XQ",$J,"ION")=

^XUTL("XQ",$J,"IOS")=0

^XUTL("XQ",$J,"IOSL")=64

^XUTL("XQ",$J,"IOST")=P-OTHER

^XUTL("XQ",$J,"IOST(0)")=16

^XUTL("XQ",$J,"IOT")=TRM

^XUTL("XQ",$J,"IOXY")=

^XUTL("XQ",$J,"XQVOL")=EHR

Which error? >  7

Process ID:  5008  (5008)               FEB 25, 2008 23:20:18

UCI/VOL: [EHR,EHR]                      

$ZA:   0                                

Current $IO: /dev/null                  Current $ZIO: /dev/null^0^0^0

$ZE= CHKX+10^ORWPT2, Maximum combined length of subscripts exceeded,150372986,-%

GTM-E-GVSUBOFLOW

 F  S IDX=$O(^AUPNPAT("D",IDX)) Q:(IDX="")!(IFLAG=1)  D

Last Global Ref: ^AUPNPAT("D")

Which symbol? > ^P

DEVICE: HOME//   TELNET

$ZE= CHKX+10^ORWPT2, Maximum combined length of subscripts exceeded,150372986,-%

GTM-E-GVSUBOFLOW

 F  S IDX=$O(^AUPNPAT("D",IDX)) Q:(IDX="")!(IFLAG=1)  D

Last Global Ref: ^AUPNPAT("D")

$DEVICE=

$ECODE=,Z150372986,

$ESTACK=10

$ETRAP=D ^%ZTER,EXIT^XWBTCPM HALT

$QUIT=0

$STACK=10

$STACK(000)=-run GTMLNX^XWBTCPM

$STACK(000,"ECODE")=

$STACK(000,"PLACE")=RESTART+3^XWBTCPM

$STACK(000,"MCODE")= U XWBTDEV D MAIN

$STACK(001)=DO

$STACK(001,"ECODE")=

$STACK(001,"PLACE")=MAIN+1^XWBTCPM

$STACK(001,"MCODE")= F  D  Q:XWBTBUF="#BYE#"

$STACK(002)=DO

$STACK(002,"ECODE")=

$STACK(002,"PLACE")=MAIN+14^XWBTCPM

$STACK(002,"MCODE")= . D CALLP^XWBPRS(.XWBR,$G(XWBDEBUG)) ;Read the NEW Msg para

meters and call RPC

$STACK(003)=DO

$STACK(003,"ECODE")=

$STACK(003,"PLACE")=CALLP+10^XWBPRS

$STACK(003,"MCODE")= I '+ERR D

$STACK(004)=DO

$STACK(004,"ECODE")=

$STACK(004,"PLACE")=CALLP+11^XWBPRS

$STACK(004,"MCODE")= . D CAPI(.XWBP,XWB("PARAM"))

$STACK(005)=DO

$STACK(005,"ECODE")=

$STACK(005,"PLACE")=CAPI+10^XWBPRS

$STACK(005,"MCODE")= D @XWBCALL S XWBCALL2=XWBCALL ;Save call for debug

$STACK(006)=DO

$STACK(006,"ECODE")=

$STACK(006,"PLACE")=LOOKUP+36^ORWPT2

$STACK(006,"MCODE")= F  S IRET=$$CHKX(X) Q:IRET'=1  S I=$O(^AUPNPAT("D",X,I)) Q:

'I  I X=$$HRN^DGLBPID(I) D LISTPOPH(I)  ;I X=$P($$HRN^DGLBPID(I),"#",2

$STACK(007)=$$

$STACK(007,"ECODE")=,Z150372986,

$STACK(007,"PLACE")=CHKX+10^ORWPT2

$STACK(007,"MCODE")= F  S IDX=$O(^AUPNPAT("D",IDX)) Q:(IDX="")!(IFLAG=1)  D

$STACK(008)=DO

$STACK(008,"ECODE")=

$STACK(008,"PLACE")=ETRAP+6^XWBTCPM

$STACK(008,"MCODE")= D ^%ZTER ;%ZTER clears $ZE and $ZCODE

$X $Y=0 0

$ZV=GT.M V5.3-000 Linux x86

%=369

%DT=T

%ZT("^XUTL(""XQ"",$J)")=

%ZTER11I=EHR,EHR

%ZTER11N=7

%ZTER11S=

%ZTER11Z=0

%ZTER12A=0

%ZTER12B=

%ZTERCNT=54

%ZTERH1=61051

%ZTERROR=

%ZTERRT=^%ZTER(1,61051,1,7)

%ZTERSUB=%ZTER11S)

%ZTERVAP=%ZT(

%ZTERVAR=%ZTERVAR

%ZTERZE=CHKX+10^ORWPT2, Maximum combined length of subscripts exceeded,150372986

,-%GTM-E-GVSUBOFLOW

DILOCKTM=3

DISYS=19

DT=3080225

DTIME=3600

DUZ=76

DUZ(0)=@

DUZ(1)=

DUZ(2)=1

DUZ("AG")=E

DUZ("AUTO")=0

DUZ("BUF")=1

DUZ("LANG")=

ERR=0

GFTI=0

I=0

**The following variables length is 368, only displaying first 255.**

IDX=11.17.2000                                                                  

**

IEND=0

IFLAG=0

ILEN=369

ILENM1=368

IO=/dev/null

IO(0)=/dev/null

IO(1,"/dev/null")=

IO("CLNM")=

IO("ERROR")=

IO("GTM-IP")=10.3.20.221

IO("HOME")=47^/dev/null

IO("IP")=10.3.20.221

IO("ZIO")=/dev/null

IOBS=$C(8)

IOF=#

IOHG=

IOM=132

ION=

IOPAR=

IOS=0

IOSL=64

IOST=P-OTHER

IOST(0)=16

IOT=TRM

IOUPAR=

IOXY=

IX=

J=

ORWCLVER=1.0.26.69

POP=1

TAB=\009

TYPE=1

U=^

**The following variables length is 369, only displaying first 255.**

X=11.17.2000                                                                    

**

**The following variables length is 369, only displaying first 255.**

X1=11.17.2000                                                                   

**

X3=

XPARSYS=5;DIC(4.2,

XQCY0=OR CPRS GUI CHART^CPRSChart version 1.0.26.69^^B^65^^^^^^^

XQMES=1

XQVOL=EHR

XQXFLG=0^0

XQXFLG("LLOG")=3080225.211211

XQY=8552

XQY0=OR CPRS GUI CHART

XR=[XWB]

XUCI=EHR

XUDEV=0

XUENV=EHR^EHR^vistaweb^EHR:vistaweb

XUEXIT=0

XUF=2

XUF(.1)=V

XUF(.2)=1

XUF(.3)=76

XUF(1)=Verify: WORLD,1234

XUFAC=1

XUIOP=

XUVOL=EHR^^256^^^n

XWB(0,"LENV")=3

XWB(0,"RT")=0

XWB(0,"TYPE")=1

XWB(0,"VER")=1

XWB(2,"RNAM")=ORWPT2

XWB(2,"RPC")=ORWPT ENHANCED PATLOOKUP

XWB(2,"RTAG")=LOOKUP

XWB(2,"VER")=0

**The following variables length is 369, only displaying first 255.**

XWB(5,"P",0)=11.17.2000                                                         

**

XWB("PARAM")=XWB(5,"P",0)

XWBAPVER=0

XWBCALL=LOOKUP^ORWPT2(.XWBY,XWB(5,"P",0))

XWBCALL2=

XWBCLMAN=Ww.www.www
XWBDEBUG=0

XWBENVL=3

XWBERC=CHKX+10^ORWPT2, Maximum combined length of subscripts exceeded,150372986,

-%GTM-E-GVSUBOFLOW

XWBERR=M  ERROR=CHKX+10^ORWPT2, Maximum combined length of subscripts exceeded,1

50372986,-%GTM-E-GVSUBOFLOW\013\010LAST REF=^AUPNPAT("D")

XWBERROR=

XWBNULL=/dev/null

XWBOS=MSM

XWBPRT=0

XWBPTYPE=2

XWBRBUF=

XWBSEC=

XWBT("BF")=!

XWBT("PCNT")=0

XWBTBUF=

XWBTCMD=

XWBTDEV=0

XWBTIME=800

XWBTIME(1)=5

XWBTIP=10.3.20.221

XWBTSKT=0

XWBVER=1.108

XWBWRAP=1

**The following variables length is 369, only displaying first 255.**

XX=11.17.2000                                                                   

**

^XUTL("XQ",$J,0)=3080225.231848

^XUTL("XQ",$J,"DUZ")=76

^XUTL("XQ",$J,"DUZ(0)")=@

^XUTL("XQ",$J,"DUZ(1)")=

^XUTL("XQ",$J,"DUZ(2)")=1

^XUTL("XQ",$J,"DUZ(AG)")=E

^XUTL("XQ",$J,"DUZ(AUTO)")=0

^XUTL("XQ",$J,"DUZ(BUF)")=1

^XUTL("XQ",$J,"DUZ(LANG)")=

^XUTL("XQ",$J,"IO")=/dev/null

^XUTL("XQ",$J,"IO(""CLNM"")")=ww.www.www
^XUTL("XQ",$J,"IO(""IP"")")=10.3.20.221

^XUTL("XQ",$J,"IOBS")=$C(8)

^XUTL("XQ",$J,"IOF")=#

^XUTL("XQ",$J,"IOM")=132

^XUTL("XQ",$J,"ION")=

^XUTL("XQ",$J,"IOS")=0

^XUTL("XQ",$J,"IOSL")=64

^XUTL("XQ",$J,"IOST")=P-OTHER

^XUTL("XQ",$J,"IOST(0)")=16

^XUTL("XQ",$J,"IOT")=TRM

^XUTL("XQ",$J,"IOXY")=

^XUTL("XQ",$J,"XQVOL")=EHR

Which error? >  8

Process ID:  5154  (5154)               FEB 25, 2008 23:34:05

UCI/VOL: [EHR,EHR]                      

$ZA:   0                                

Current $IO: /dev/null                  Current $ZIO: /dev/null^0^0^0

$ZE= LISTPOPD+6^ORWPT2, Global variable undefined: ^DPT("EB 25,150372994,-%GTM-E

-GVUNDEF

 S GFTI=GFTI+1,LST(GFTI)=DFN_U_$P(^DPT(DFN,0),U)_U_$$FMTE^XLFDT($P(^(0),U,3))_TA

B_"!"_DFN_U_$$ID^DGLBPID(DFN)_U_"'"_HRN_"'"_U_PHONE

Last Global Ref: ^DPT("EB 25, 2008@10:30",0)

Which symbol? > ^P

DEVICE: HOME//   TELNET

$ZE= LISTPOPD+6^ORWPT2, Global variable undefined: ^DPT("EB 25,150372994,-%GTM-E

-GVUNDEF

 S GFTI=GFTI+1,LST(GFTI)=DFN_U_$P(^DPT(DFN,0),U)_U_$$FMTE^XLFDT($P(^(0),U,3))_TA

B_"!"_DFN_U_$$ID^DGLBPID(DFN)_U_"'"_HRN_"'"_U_PHONE

Last Global Ref: ^DPT("EB 25, 2008@10:30",0)

$DEVICE=

$ECODE=,M7,Z150372994,

$ESTACK=11

$ETRAP=D ^%ZTER,EXIT^XWBTCPM HALT

$QUIT=0

$STACK=11

$STACK(000)=-run GTMLNX^XWBTCPM

$STACK(000,"ECODE")=

$STACK(000,"PLACE")=RESTART+3^XWBTCPM

$STACK(000,"MCODE")= U XWBTDEV D MAIN

$STACK(001)=DO

$STACK(001,"ECODE")=

$STACK(001,"PLACE")=MAIN+1^XWBTCPM

$STACK(001,"MCODE")= F  D  Q:XWBTBUF="#BYE#"

$STACK(002)=DO

$STACK(002,"ECODE")=

$STACK(002,"PLACE")=MAIN+14^XWBTCPM

$STACK(002,"MCODE")= . D CALLP^XWBPRS(.XWBR,$G(XWBDEBUG)) ;Read the NEW Msg para

meters and call RPC

$STACK(003)=DO

$STACK(003,"ECODE")=

$STACK(003,"PLACE")=CALLP+10^XWBPRS

$STACK(003,"MCODE")= I '+ERR D

$STACK(004)=DO

$STACK(004,"ECODE")=

$STACK(004,"PLACE")=CALLP+11^XWBPRS

$STACK(004,"MCODE")= . D CAPI(.XWBP,XWB("PARAM"))

$STACK(005)=DO

$STACK(005,"ECODE")=

$STACK(005,"PLACE")=CAPI+10^XWBPRS

$STACK(005,"MCODE")= D @XWBCALL S XWBCALL2=XWBCALL ;Save call for debug

$STACK(006)=DO

$STACK(006,"ECODE")=

$STACK(006,"PLACE")=LOOKUP+17^ORWPT2

$STACK(006,"MCODE")= I X3'="",X3'="OPT" D

$STACK(007)=DO

$STACK(007,"ECODE")=

$STACK(007,"PLACE")=LOOKUP+22^ORWPT2

$STACK(007,"MCODE")= .D LISTPOPD(X)

$STACK(008)=DO

$STACK(008,"ECODE")=,M7,Z150372994,

$STACK(008,"PLACE")=LISTPOPD+6^ORWPT2

$STACK(008,"MCODE")= S GFTI=GFTI+1,LST(GFTI)=DFN_U_$P(^DPT(DFN,0),U)_U_$$FMTE^XL

FDT($P(^(0),U,3))_TAB_"!"_DFN_U_$$ID^DGLBPID(DFN)_U_"'"_HRN_"'"_U_PHONE

$STACK(009)=DO

$STACK(009,"ECODE")=

$STACK(009,"PLACE")=ETRAP+6^XWBTCPM

$STACK(009,"MCODE")= D ^%ZTER ;%ZTER clears $ZE and $ZCODE

$X $Y=0 0

$ZV=GT.M V5.3-000 Linux x86

%=52

%DT=T

%ZT("^XUTL(""XQ"",$J)")=

%ZTER11I=EHR,EHR

%ZTER11N=8

%ZTER11S=

%ZTER11Z=0

%ZTER12A=0

%ZTER12B=

%ZTERCNT=58

%ZTERH1=61051

%ZTERROR=

%ZTERRT=^%ZTER(1,61051,1,8)

%ZTERSUB=%ZTER11S)

%ZTERVAP=%ZT(

%ZTERVAR=%ZTERVAR

%ZTERZE=LISTPOPD+6^ORWPT2, Global variable undefined: ^DPT("EB 25,150372994,-%GT

M-E-GVUNDEF

DFN=EB 25, 2008@10:30

DISYS=19

DT=3080225

DTIME=3600

DUZ=76

DUZ(0)=@

DUZ(1)=

DUZ(2)=1

DUZ("AG")=E

DUZ("AUTO")=0

DUZ("BUF")=1

DUZ("LANG")=

ERR=0

GFTI=1

HRN=

I=0

IEND=0

ILEN=52

ILENP=18

IO=/dev/null

IO(0)=/dev/null

IO(1,"/dev/null")=

IO("CLNM")=ww.www.www
IO("ERROR")=

IO("GTM-IP")=10.3.20.221

IO("HOME")=47^/dev/null

IO("IP")=10.3.20.221

IO("ZIO")=/dev/null

IOBS=$C(8)

IOF=#

IOHG=

IOM=132

ION=

IOPAR=

IOS=0

IOSL=64

IOST=P-OTHER

IOST(0)=16

IOT=TRM

IOUPAR=

IOXY=

IX=

J=

ORWCLVER=1.0.26.69

PHONE=

POP=1

TAB=\009

TYPE=1

U=^

X1=Amaya,Leticia\009Cl Asla\009Feb 25, 2008@10:30\009(a6318)\009Opt

X3=FEB 25, 2008@10:30

XPARSYS=5;DIC(4.2,

XQCY0=OR CPRS GUI CHART^CPRSChart version 1.0.26.69^^B^65^^^^^^^

XQMES=1

XQVOL=EHR

XQXFLG=0^0

XQXFLG("LLOG")=3080225.233112

XQY=8552

XQY0=OR CPRS GUI CHART

XR=[XWB]

XUCI=EHR

XUDEV=0

XUENV=EHR^EHR^vistaweb^EHR:vistaweb

XUF=2

XUF(.1)=

XUF(.2)=0

XUF(.3)=76

XUFAC=0

XUIOP=

XUVOL=EHR^^256^^^n

XWB(0,"LENV")=3

XWB(0,"RT")=0

XWB(0,"TYPE")=1

XWB(0,"VER")=1

XWB(2,"RNAM")=ORWPT2

XWB(2,"RPC")=ORWPT ENHANCED PATLOOKUP

XWB(2,"RTAG")=LOOKUP

XWB(2,"VER")=0

XWB(5,"P",0)=Amaya,Leticia\009Cl Asla\009Feb 25, 2008@10:30\009(a6318)\009Opt

XWB("PARAM")=XWB(5,"P",0)

XWBAPVER=0

XWBCALL=LOOKUP^ORWPT2(.XWBY,XWB(5,"P",0))

XWBCALL2=

XWBCLMAN=Ww.www.www
XWBDEBUG=0

XWBENVL=3

XWBERC=LISTPOPD+6^ORWPT2, Global variable undefined: ^DPT("EB 25,150372994,-%GTM

-E-GVUNDEF

XWBERR=M  ERROR=LISTPOPD+6^ORWPT2, Global variable undefined: ^DPT("EB 25,150372

994,-%GTM-E-GVUNDEF\013\010LAST REF=^DPT("EB 25, 2008@10:30",0)

XWBERROR=

XWBNULL=/dev/null

XWBOS=MSM

XWBPRT=0

XWBPTYPE=2

XWBRBUF=

XWBSEC=

XWBT("BF")=!

XWBT("PCNT")=0

XWBTBUF=

XWBTCMD=

XWBTDEV=0

XWBTIME=800

XWBTIME(1)=5

XWBTIP=10.3.20.221

XWBTSKT=0

XWBVER=1.108

XWBWRAP=1

^XUTL("XQ",$J,0)=3080225.23331

^XUTL("XQ",$J,"DUZ")=76

^XUTL("XQ",$J,"DUZ(0)")=@

^XUTL("XQ",$J,"DUZ(1)")=

^XUTL("XQ",$J,"DUZ(2)")=1

^XUTL("XQ",$J,"DUZ(AG)")=E

^XUTL("XQ",$J,"DUZ(AUTO)")=0

^XUTL("XQ",$J,"DUZ(BUF)")=1

^XUTL("XQ",$J,"DUZ(LANG)")=

^XUTL("XQ",$J,"IO")=/dev/null

^XUTL("XQ",$J,"IO(""CLNM"")")=ww.www.www
^XUTL("XQ",$J,"IO(""IP"")")=10.3.20.221

^XUTL("XQ",$J,"IOBS")=$C(8)

^XUTL("XQ",$J,"IOF")=#

^XUTL("XQ",$J,"IOM")=132

^XUTL("XQ",$J,"ION")=

^XUTL("XQ",$J,"IOS")=0

^XUTL("XQ",$J,"IOSL")=64

^XUTL("XQ",$J,"IOST")=P-OTHER

^XUTL("XQ",$J,"IOST(0)")=16

^XUTL("XQ",$J,"IOT")=TRM

^XUTL("XQ",$J,"IOXY")=

^XUTL("XQ",$J,"XQVOL")=EHR

Which error? >  

Which date? > 

   P1     Print 1 occurence of each error for T-1 (QUEUE)

   P2     Print 2 occurrences of errors on T-1 (QUEUED)

          Clean Error Trap

          Error Trap Display

          Interactive Print of Error Messages

          Remove a TYPE of error

You have PENDING ALERTS

          Enter  "VA to jump to VIEW ALERTS option

Select Error Processing Option:

